" 1992 4
2
Do Dp
S kg/MPa 1MPa kg
s=av' 2 oS v svg kg/MPa
r r
V! ’V n
Vg — m>
p — kg/ m®
roo— kJ/kg
Gm —— kg
Cm — kJkg



& — kJkgMPa e=di'/dp
0 — /MPa 0 =dTb/dp
a — kgm®MPa  a=dp'/dp
5 — kgm®MPa & =dpq/dp
1.27Mpa K 2
V'=39m° V" =1.1m° Gm=5000 kg
Cm 0.469kJ/kg r=1963.6kJkg p'=871.08kg/m* & 1458kJkgMPa «
471kg/m*Mpa 6=32.86 /MPa S 296.67 kg/MPa 30.2 kg/at
85 13.3 1.7
D. Dp=AD th
dp/dt=  AD/3.6S MPals 2
dp/dt
AH % S £ m 3
dt p" F
pl— kg/m®
T S
F—— m?
3
AH =AD7/3.6p'"F m 4

Ap

230t/h
55 28 14

a Dmcr Dmax>Dmcr t



Ap = —(D max— Dmer)t/3.6S

Dp Dmcr
DL ty
Ap=-(DL DP)ty/7.2S
Dmax
6 2
7

MPa

MPa

Dmcr

60



10

30




3m 15m  100m° 160m?

05 1.3 Mpa 180
0.06 w/mk 120mm
3m/s 11.5 w/m?k
20 m? 77W 100m®
81W
300W 100m?

Q 80x 160x 3.6 46000 kJh
9=Q/r=46000/2018=23 kg/h

AH=gz/(p'F)=23x 7x 24/(888x 0.785x 9)=0.6 m

Q' g(i'—i0)=23(666-84)=13000 kJh

Y~ Q=Q+Q" =46000+13000=59000 kJh
10t/h 0.15 10t/h
1.7 /10
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